Adding Tens to a 3-Digit Number

+

LO: to add tens to a 3-digit number

Calculate the answer to the following:

1) 153 + 30 =

Calculate the answer to the following:

9) 142 + 80 =

2) 272 + 20 = 10) 267 + 70 =
3) 301 + 60 = 17) 398 + 60 =
4) 413 + 70 = 12) 451 + 50 =
5) 523 + 40 = 13) 564 + 80 =
6) 630 + 20 = 14) 675 + 90 =
7) 737 + 50 = 15) 761 + 70 =
8) 939 + 60 = 16) 964 + 60 =
Calculate the answer to the following: Challenge

17) 102 + __ = 172
18) 282 + 60 =

19) ___ +30 =424
20)488 + 40 =

21) 537 + 90 =
22)___ +30=0686

23)770 + __ = 850

24)961 + 70 =

Explain how you would use

8 + 6 = 14 to calculate 783 + 60.
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Adding Tens to a 3-Digit Number 0

LO: to add tens to a 3-digit number

Calculate the answer to the following: | Calculate the answer to the following:

1) 153 + 30 = 183 9) 142 + 80 = 222
2) 272 + 20 = 292 10) 267 + 70 = 337
3) 301 + 60 = 361 11) 398 + 60 = 458
4) 413 + 70 = 483 12) 451 + 50 = 501
5) 523 + 40 = 563 13) 564 + 80 = 644
6) 630 + 20 = 650 14) 675 + 90 = 765
7) 737 + 50 = 787 15) 761 + 70 = 831
8) 939 + 60 = 999 16) 964 + 60 = 1024

Calculate the answer to the following: Challenge

17 =
) 102 + 70 = 172 Explain how you would use

18) 282 + 60 = 342 8 + 6 = 14 to calculate 783 + 60.
19) 394 + 30 = 424 8+6=14

20)488 + 40 = 528 80 + 60 = 140

21) 537 + 90 = 627 83 + 60 = 143

22)656 + 30 = 686 700 + 143 = 843

23)770 + 80 = 850

24)961 + 70 = 1031
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